
   

 
 

Area of Squares 

 1. 

Determine the area of a square, to the nearest tenth of a square foot, whose side lengths 

measure 3.2 feet. 

    

  

 

 

 

 

 

 

 

 

    

  

Asquare = s
2
 

=(3.2 ft)
2
 

=10.2 ft
2
 

 

The area of the square is approximately 10.2 ft
2
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 2. A square has an area of 12 556 in
2
.  Find the side length, to the nearest tenth of an inch. 

    

   

2

square

2 2

2 2

            A  s

   12 556 in s

12 556 in s

        112.1 in s









 

 

The side length is approximately 112.1 inches. 

   

    
  

3.2 ft 

3.2 ft 


